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MODEL QUESTION PAPERS-SET 2

Exercise

1. If P and Q are any two set then P-Q=

A. a)

B. b)

C. c)

D. d)

P ' ∩ Q'

P ' ∪ Q'

P ∩ Q'

P ∪ Q'

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_NaM5sVDBTCY1


Answer:

Watch Video Solution

2. For what value of m,n, the relation is not

correct ?

A. a)m=5,n=3

B. b)m=-5,n=3

C. c)m=-5,n=-3

D. d)m=5,n=-3.

Answer:

Watch Video Solution

√mn = √m. √n

https://dl.doubtnut.com/l/_NaM5sVDBTCY1
https://dl.doubtnut.com/l/_Pd8o6jN2aeON
https://dl.doubtnut.com/l/_GxrSmvbFsi4I


3. In the expansion ,the middle term will be

A. a) ^10C_4`

B. b)

C. c)

D. d) ^10C_4`

Answer:

Watch Video Solution
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4. If the roots of the equation is

a,b;then the equation whose roots are ,  is

A. a)(x-a)(x-b)=0

(x − α)(x − β) = c

α β

https://dl.doubtnut.com/l/_GxrSmvbFsi4I
https://dl.doubtnut.com/l/_1JU2yLJixfOL


B. b)

C. c)

D. d)(x-a)(x-b)+c=0

Answer:

Watch Video Solution

(x − a)(x − β) − c = 0

(x − β)(x − b) + c = 0

5. Find the area of the triangle formed by the straight lin

and two coordinates axis.

A. a)

B. b)`P^2cosec2alpha sq.unit

C. c)

D. d)

x cos α + y sin α = P

P cos ec2αsq. unit

p cos ec2αsq. unit
1

2

p2 cos ec2αsq. unit
1

2

https://dl.doubtnut.com/l/_1JU2yLJixfOL
https://dl.doubtnut.com/l/_JF6jrYLSJcFr


Answer:

Watch Video Solution

6. The equation of circle which touches x axis at origin and

radius is r units is

A. a)

B. b)

C. c)

D. d)

Answer:

Watch Video Solution

x2 + y2 = 2rx

x2 + y2 = 2ry

x2 + y2 + 2rx = 0

x2 + y2 + 2ry = 0

https://dl.doubtnut.com/l/_JF6jrYLSJcFr
https://dl.doubtnut.com/l/_8gBoPMZEK5Vv
https://dl.doubtnut.com/l/_qQkgsZm3E3oJ


7. The value of 

is

A. a)log a

B. b)log b

C. c)a

D. d)b

Answer:

Watch Video Solution

lim
x → ∞

ax sin( ), (a, b > 1)
b

a → thepowerx

8. If f(x)=x|x|,then the value of f'(x) is

A. a)±
1

2

https://dl.doubtnut.com/l/_qQkgsZm3E3oJ
https://dl.doubtnut.com/l/_ndPxj5WCx9VC


B. b)

C. c)v|x|

D. d)2|x|.

Answer:

Watch Video Solution

±1

9. How many numbers of five digits can be formed with the

digits 0,1,2,3,4, repetitions s being not allowed?

A. a)48

B. b)96

C. c)144

D. d)210

https://dl.doubtnut.com/l/_ndPxj5WCx9VC
https://dl.doubtnut.com/l/_FcAoPDxo2TFp


Answer:

Watch Video Solution

10. The A.M of 1,2,3,4,…..100 is

A. a)50.55

B. b)55.5

C. c)50.5

D. d)55.5

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_FcAoPDxo2TFp
https://dl.doubtnut.com/l/_WcdNh1RbJ1u9


11. If P={x:x=4n+1, and }and Q ={3n: and 

},find the set (P-Q).

Watch Video Solution

n ≤ 5 n ∈ N n ≤ 8

n ∈ N

12. If mRn=[(m,n):m-n is divisible by 5}is the relation with N

set,find 

Watch Video Solution

(3Rn) ∩ (5Rn)

13. Find the maximum value of 

Watch Video Solution

sin2 θ + cos2 θ
1

2

1

3

https://dl.doubtnut.com/l/_7na5eqy7Ji7B
https://dl.doubtnut.com/l/_Xbv4MlS9l1R9
https://dl.doubtnut.com/l/_7D9rtyVsvEY6


14. Show that

Watch Video Solution

tan 8α − tan 5α − tan 3α = tan 8α tan 5α tan 3α

15. Show that

,where w is an cube (imaginary ) root of 1.

Watch Video Solution

(x + yw + zw2)
2

+ (xw2 + y + zw)
2

+ (xw + yw2 + z)
2

= 0

16. What is the permutations of the letters in the word

CAMBRIDGE when M,R,D are not together?

Watch Video Solution

https://dl.doubtnut.com/l/_cnagFT72bUMM
https://dl.doubtnut.com/l/_dTapXKlFvHep
https://dl.doubtnut.com/l/_1itnm0SW7ZoN


17. Which term of the expansion of is the term

independent of x.

Watch Video Solution

(2x2 − x − 1)
12

18. Find the least value of a when a+b=4 and 

Watch Video Solution

2a + 3b ≤ 25

19. Find the perpendicular distance from (2,3,4) to x- axis and

z- axis.

Watch Video Solution

https://dl.doubtnut.com/l/_rr7hqd3c4zsy
https://dl.doubtnut.com/l/_Dp96tWAVQhHf
https://dl.doubtnut.com/l/_q3FxZKY2R1sF


20. Convert the straight line  into normal

form.

Watch Video Solution

√3x + y + 14 = 0

21. Evaluate :

Watch Video Solution

lim
x → a

3√x − 3√a

x − a

22. IS the derivative of the function f(x)=|x| at x=0.possible?

Watch Video Solution

https://dl.doubtnut.com/l/_jTpYJtQK7Hef
https://dl.doubtnut.com/l/_Z0te4aoUI2Dd
https://dl.doubtnut.com/l/_pYsHmTZnLeAj


23. In a frequancy distribution,if the mean = 35 & median = 33,

then find the mode of the frequency distribution.

Watch Video Solution

24. A box contains 6 white balls and 4 black balls, A ball is

drawn at random from the box. What is the probability that

the ball is white.

Watch Video Solution

25. In three sets P,Q,R if and 

,then show that Q=R.

Watch Video Solution

P ∪ R = P ∪ Q

P ∩ Q = P ∩ R

https://dl.doubtnut.com/l/_Fy5pfoIINHBm
https://dl.doubtnut.com/l/_xym7a2tFOl19
https://dl.doubtnut.com/l/_KreiNuV3jfJT


26. Show that,

Watch Video Solution

tan 7( ) = √6 − √3 + √2 − 2
1∘

2

27. Prove by mathematical induction,

 = 

 where .

Watch Video Solution

n.1 + (n − 1).2 + (n − 2).3 + … + 2. (n − 1) + 1. n

n(n + 1)(n + 2)

6
n ∈ N

28. If ,show that 

Watch Video Solution

a + ib = √
x + iy

p + iq
(a2 + b2)

2
=

x2 + y2

p2 + q2

https://dl.doubtnut.com/l/_sHZG7xoYcW7B
https://dl.doubtnut.com/l/_kuQ4VbCwheQv
https://dl.doubtnut.com/l/_afTPHpZpQVJB


29. If the ,  and  terms of a G.P. are , ,  respectively.

then show that :
 .

Watch Video Solution

pth qth rth x y z

xq − r yr− p. zp − q = 1

30. The co-efficients of the expansion of and 

are P and Q resp.Calculate the relation between P

and Q.

Watch Video Solution

(1 + x)2n − 1

(1 + x)2n

31. The co-ordinates of the vertices of a quadrilateral are

(3,-2)(6,2)(4,3) and (-1,0) resp.Find the area of the

quadrilateral.

Watch Video Solution

https://dl.doubtnut.com/l/_eM6vkJfMVw5s
https://dl.doubtnut.com/l/_qAaB3HA4hXU9
https://dl.doubtnut.com/l/_TPeishJtk1SZ


Watch Video Solution

32. Find the equations of straight line which are

perpendicular to the straight line 4x-3y+7=0 and at a

distance 3 unit from the origin.

Watch Video Solution

33. A circle through the common points of the circles

and 

has its centre on the line x+y=0.Find the equations of the

circle.

Watch Video Solution

x2 + y2 − x + 7y − 3 = 0 x2 + y2 − 5x + y + 1 = 0

https://dl.doubtnut.com/l/_TPeishJtk1SZ
https://dl.doubtnut.com/l/_jE4iwybN9F3q
https://dl.doubtnut.com/l/_AdA57QthhSAM


34. Find the equations of the two straight line parallel to the

line 3x+4y=15and at a distance of 7.5 unit from the point

(1,-2).

Watch Video Solution

35. Evaluate :

Watch Video Solution

lim
x → 0

(a + x)
2

sin(a + x) − a2 sin a

π

36. If the derivatives of f(x) at x=a is f'(a) ,then show that

Watch Video Solution

lim
x → a

= f(a) − af' (a)
xf(a) − af(x)

x − a

https://dl.doubtnut.com/l/_G70zL7MwRxTi
https://dl.doubtnut.com/l/_i8WaaxmoA88U
https://dl.doubtnut.com/l/_5BVovxEKxUAy
https://dl.doubtnut.com/l/_Ii9tbnLyr1TY


37. If n is a such real number that n>3 .then  prove it

by the method of contradiction.

Watch Video Solution

n2 > 9

38. From 20 cards marked with the 1st 20 natural

numbers.one is drawn at random ,find the probability that it

is a)prime number b) multiple of 5.

Watch Video Solution

39. Find the mean of first ten natural numbers

Watch Video Solution

https://dl.doubtnut.com/l/_Ii9tbnLyr1TY
https://dl.doubtnut.com/l/_XeZx173rUvaM
https://dl.doubtnut.com/l/_RDjUMS7gcYRy
https://dl.doubtnut.com/l/_TKj8rKJB9fce


40. If and ,then prove

that 

Watch Video Solution

tan( ) = tan3( )
θ

2

ϕ

2
tan ϕ = 2 tan α

θ + ϕ = 2α

41. Find the value of 

Watch Video Solution

sec 80∘ − 2cos 20∘1

2

42. Find the common solution region by graphical method.

, , , ,

Watch Video Solution

2x + y ≥ 2 x − y ≤ 1 x + 2y ≤ 8 x > 0 y ≥ 0

43. Solve.√3x2 − √2x + 3√3 = 0

https://dl.doubtnut.com/l/_TKj8rKJB9fce
https://dl.doubtnut.com/l/_lEZn9uyVbOJe
https://dl.doubtnut.com/l/_XXJmW8Tnyv6e
https://dl.doubtnut.com/l/_0ZQYqlrAXBgN


Watch Video Solution

44. Find the sum to n terms :

Watch Video Solution

+ + + ... +
1

2

3

22

5

23

2n − 1

2n

45. If the sum of the first m terms of an A.P. is equal to the

sum of either the next n terms or the next p terms, prove

that, 

Watch Video Solution

(m + n)( − ) = (m + p)( − )
1

m

1

p

1

m

1

n

46. PQ is a double ordinate of the parabola Show

that thelocus of its point of trisection the chord PQ is

y2 = 4ax

https://dl.doubtnut.com/l/_0ZQYqlrAXBgN
https://dl.doubtnut.com/l/_jYMRwLZwKhhg
https://dl.doubtnut.com/l/_IfPcDT43ORmx
https://dl.doubtnut.com/l/_BQE4cWP4bSx1


.

Watch Video Solution

9y2 = 4ax

47. Show that for all values of t the point ,

lia.on a on a fixed hyperbola. What is the

eccentricity of the hyperbola.

Watch Video Solution

x = c( )
1 + t2

1 − t2

y =
2ct

1 − t2

48. The eccentric angles of the two points P and Q on the

ellipse are  and  resp.If the chord PQ

makes angle  with the vertex (a,0)of the ellipse then show

that 

Watch Video Solution

+ = 1(a > b)
x2

a2

y2

b2
θ ϕ

90∘

tan( )tan( ) = −
θ

2

ϕ

2
b2

a2

https://dl.doubtnut.com/l/_BQE4cWP4bSx1
https://dl.doubtnut.com/l/_LNrfVd4cNckw
https://dl.doubtnut.com/l/_1eGPIOxW19xs


https://dl.doubtnut.com/l/_1eGPIOxW19xs

